- Generally, types of recursive algs we'll see involve splithing a list in 2 (divide & conquer approach)

- e.g. tree-like algorithms to this, like our kd-ther (splits list in 2, recurse on each list)

als looks something like this alg(list): l. if (|list|=1) redurn — T(1)=1

2. split into 2 lists, C, R — O(N)

3. alg(L)

4. alg(A)

T(N) = 2T(N2) + O(N) + o(N)

Tuesday, October 03, 2006 3:28 PM

- We can SJD in N (pr O(N)

$$T(1) = 1$$
 $T(N) = 2T(N/L) + N$

I (for Mergesort)

- how the solve 15th?

- 2 Methods: telescoping some & back substitution

- Methods: $T(N) = 2T(N/L) + N$

Airide by N:

 $T(N) = 2T(N/L) + N$

I (M/L)

 $T(N) = 2T(N/L) + N$

Airide by N:

 $T(N) = 2T(N/L) + N$
 $T(N/L) = 1$
 $T(N/L) = 1$
 $T(N/L) = 1$
 $T(N/L) = 1$
 $T(N/L) = 1$

All if $T(N) + T(N/L) + T(N/L) + T(N/L) = 1$

why some substitution of presents; $T(N) = 1$
 $T(N) = 1$

 $| \frac{T(N/0')}{N/0} = \frac{T(1)}{1}$ $T(N) = N + N | y | \leq O(N | y | N)$

Method 2: Rawbok bank substitute

Wisson
$$T(N) = 2T(\frac{N}{L}) + N - 1$$
, $T(1) = 0$

Level 1: $T(N) = N - 1 + 2T(\frac{N}{L})$

but 2: $= N - 1 + 2 + 2T(\frac{N}{L})$
 $= N - 1 + N - 2 + 4T(\frac{N}{L})$
 $= N - 1 + N - 2 + 4T(\frac{N}{L})$
 $= N - 1 + N - 2 + N - 4 + 2T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 4 + 2T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 4 + 2T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 4 + 2T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 4 + N - 1 + 16T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 4 + N - 1 + 16T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 4 + N - 1 + 16T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 4 + N - 1 + 16T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 4 + N - 1 + 16T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 4 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 4 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 4 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 4 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 4 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 4 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 2 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 1 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 1 + N - 1 + N - 10T(\frac{N}{R})$
 $= N - 1 + N - 1 + N - 1$

Handy formulae:
$$\sum_{i=0}^{N} K = K(N+1) \qquad \sum_{i=0}^{N} C = \sum_{i=0}^{N(N+1)} \frac{N(N+1)}{N} = \sum_{i=0}^{N+1-1} \frac{N+1-1}{N(N+1)/2}$$

$$\sum_{i=0}^{N+1-1} \frac{N+1-1}{N(N+1)/2} = \frac{N(N+1)}{N(N+1)/2}$$

$$\sum_{i=0}^{N+1-1} \frac{(N-1)}{N(N+1)/2} = \frac{N(N+1)}{N(N+1)/2} = \frac{N(N+1)}{N(N+1)/2} = \frac{N(N+1)}{N(N+1)/2}$$

$$\sum_{i=0}^{N+1-1} \frac{(N-1)}{N(N+1)/2} = \frac{N(N+1)}{N(N+1)/2} = \frac{N(N+1)}{N(N+1)/2} = \frac{N(N+1)}{N(N+1)/2} = \frac{N(N+1)}{N(N+1)/2}$$

$$\sum_{i=0}^{N+1-1} \frac{(N-1)}{N(N+1)/2} = \frac{N(N+1)}{N(N+1)/2} = \frac$$

Chp7: Socting Insertion soft; analysis: $\frac{N}{2}i = \frac{N(N+1)}{2} \in O(N^2)$ why? beanse it works on painrise comparations How many pairs of nandes are there? N(N-1)/2 pairs on anerge, given a N = N(N-1) from N = N(N-1)So ... on average, inserter soft idos $\frac{N(N-1)}{Y}$ paramete companions $\theta(N(N-1)) \in -\theta(N^2)^{\frac{1}{2}}$ This happens to give lover bound for parmer soll

(accordy to text) Mis indudes Libble soft

to summary: Insenden + bubble but: $\Omega(N^2)$ which just then at bother of speed pile

(thruste the showerd)

Meryelar: T(1)=1 T(N)=2T(NL)+N O(NISN) as drove

Quick SO(t): T(N)=T(E)+T(N-E-1)+CN (from both) T(0)=T(1)=1depend on where pilot part is chosen world case: pivot is at beginny, T(N)=T(N-1)+CN

Avoidsoft hest case
$$T(N) = 2T(\frac{N}{2}) + CN$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$
Survey:
$$= cN | gN + N \in O(N | gN)$$
Survey:
$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N | gN)$$

$$= cN | gN + N \in O(N |$$

- Best his - on sun time for sorting:

Neapsort

1. construct a heap of I downto

D(N) partially softed

2. perform N delete Min() with min

verent on top

O(N) find Min() \in O(1)

(since heap may

need to be reogenized)

O(N(N) sun time, but need 2 no away

(NH) to stole softed values

(holde the memory regrocuto)